Run 4497 quartetwise, posHQ: Beam DH
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Run 4497 quartetwise, asym0Osub: Beam ON
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Run 4497 quartetwise, negHO: Beam DIN
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-------- Histogram Vars

Positive Hel (ON): 2.399043 +/- 0.010675
Negative Hel (ON): 2.332636 +/- 0.010444
Positive Hel (OFF): 0.235312 +/- 0.009218
Negative Hel (OFF): 0.237351 +/- 0.009246
-------- Sums and Diffs

On Diff: 0.066408 +/- 0.000717
Off Diff: -0.002039 +/- 0.001428
On Sum: 4.731679 +/- 0.021108
Off Sum: 0.472664 +/- 0.018408
-------- Asymmetries
On Asym: 15.592293 +/- 0.197188 (ppt)
Off Asym: -0.478727 +/- -0.335205 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 4.259015 +/- 0.028007
BkSub Asym: 16.071020 +/- 0.388903 (ppt)
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Run 4497 quartetwise, posHO vs time Run 4497 quartetwise, negHO vs time
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